
 

      

    

23801 E. La Palma Ave., Yorba Linda, Ca 92887 Ph. 714.692.8180  Fax. 714.692.5016 
 

www.cobrausa.com  

06/05   TM 

 
 

*  Cobra recommends you always wear a helmet while riding. Please never operate your motorcycle while under  
 the influence of alcohol and/or drugs. Enjoy the new look of your motorcycle and please ride safely.  

Items Supplied > 

1 – FLOORBOARD ASSEMBLY, LEFT 

1 – FLOORBOARD ASSEMBLY, RIGHT 

 

Application(s) > 

Honda VTX1300C 04-09 

Instruction Manual > 

Your Floorboards will install in just a few minutes using common tools.  Read all instructions carefully 
and completely before installation 

1. Remove the M10 bolt from the shift lever on the left footpeg mount and slide the lever off the mount.  
Remove the two M10 bolts from the footpeg mount at the frame and remove the footpeg assembly.  
Set the bolts aside. 

2. Install the left Cobra floorboard assembly to the frame with the M10 bolts set aside from step 1.  
Slide the shift lever over the bushing on the floorboard mount and reinstall the M10 bolt removed 
from step 1 then tighten the bolt. 

3. Remove the M6 bolt from the right side lower footpeg mount.  Loosen the two M10 bolts from the 
footpeg mount at the frame but DO NOT REMOVE them.  Loosen the M8 bolt that runs thru the 
brake lever until it’s separated from the footpeg mount.  Remove the M10 bolts and footpeg 
assembly setting the bolts aside. 

4. Insert the M10 bolts set aside in step 3 thru the Cobra right side floorboard mount, inner brake lever 
mount and into the frame but DO NOT TIGHTEN at this time.  Insert the M8 shift lever bolt into the 
floorboard mount but DO NOT TIGHTEN at this time. 

5. Snug the right floorboard assembly together making sure the brake lever does not bind during 
operation. 

6. Tighten all bolts to factory torque specifications. 
 

 06-1637 / 06-4137 Page 1 of 1 
 

DOCUMENT NO.  0017 REV. B
 


